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Part - III
PG .gmﬂa‘j]u_lsb / SOCIAL SCIENCE

( 580 whm b gmdla aufl / Tamil & English Version)

| Qungs wHuGuarser : 100

&mev yemey : 3.00 wenfl Crpb |
P [ Maximum Marks : 100

Time Allowed : 3.00 Hours |
Sifleysmraen (1) sevass anssend sfluns sisal Lbleund) o drers Grs‘u'rug,m:;fn
silunrsgs Qenaratayn. sissuufeda gapur® @amula
enné samsrafiiurafiin o anqures Caflalssan.
(2] Beod =oegy smUY ovloa wLEGL W wsHEL
Sl &Gang Peush@h LwuauBss CaiagmBb. LLRSE aumiausnE
Cuanéler Lweanu@ss Ceauamm(@Hib.
Instructions : (1)  Check the question paper for fairness of priqting. ‘Tr there is any
lack of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

@Oy : Qevellannggner mreng Uefsmens Csreamg).
Note : This question paper contains four Parts.

@Sl -1/ PART - I
@Oy : () Smanssy allanésEna@n elawalléasab, . 14x1=14
(i) G@arfasiulc wIHD doLsaid Blaab ghymLy eSeLulmar
CoiblleBsas GHELGLea el emanyb Cenggy ar(pgeylb.
Note : (if  Answer all the questions.

(i1f] Choose the most appropriate answer [rom the given four alternatives
and write the option code and the corresponding answer,
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1.

2

e wssHan apsl UGS Lrai smdud gerdussusas eflousiioma ?

(1) g2Crmiumr () Qosdean sQuilssT
(8) Qpdwr (w) enm

Which part of the world disliked Dollar Imperialism ?

{a] Europe (b) Latin America

(c) India (d) China

Sannellér wéad Brdlue sopsmiey wrpn® euCung poLAUDDS ?

() @eLibur 1959 (=) @i tbuir 1949
(@) Qelibur 1954 (F) QelLibui 1944
When was People’s Political Consultative Conference held in China ?
(a) September 1959 (b) September 1949
(c) September 1954 (d) September 1944

Hysdidu sbluallar prETgsEn s TPiss Hlém pse UTMETLE-
ST wnm ?

(21) wog sCangriset (<) YeI5Cs et

(@) Ceugymradlumt (7)) eSpunamgw &L @umbwer

Who was the first Palayakkarars to resist the East India Company’s Policy of
territorial aggrandizement ?

{a) Marudhu brothers (b) Puli Thevar

(c) Velunachiyar (d] Veerapandya Kattabomman

@pdw Cadlu srisdigflan aps Swielld gsgopuran BussssésE g@wd
QUPRISLULL S ?
(<o) LUML (<=21,) wgyrE (B) swsassn (F) mBréum

In which session of Indian National Congress was Non-cooperation Movement
approved ?

{a) Bombay (b) Madras (¢) Calcutta (d) Nagpur
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Udra F s e panssiufagd wauHH aRsser wri ?

() padadl (<) Gewundler
(@) =L Gr Bdsar () una@elan
Who initated the formation of League of Natons ?
fal Roosevelt (o) Chamberlain
(¢}  Woodrow Wilson (d) Baldwin

nsrae. Jadef srueaT SeTevey QenamBaTarg.

(<) 80% - 95% (<=1) 70% -&@ Gua
(@) 60% - 70% (F) 50% -&@WL GODY
The Anthracite coal has of carbon.

(a) 80 to 93%; (b) Above 70%

{c) 60 to 70% (d) Below 50%

8037 L ede s o wnonan Asmb

(=) yoaes (1) @smLQuim . 1
(2) wGssdraf (r) CGereugmuen

The highest peak in Tamil Nadu is g

(a) Anaimudi (b) Doddabetta

(c) Mahendragiri (d) Servarayan

sBlpprlugidter Auflu Lo Aflu geppersaa aaraflsas :
=) 3 onob 15 (<) 4 wpmb 16 (§) 3 wHmb 16 (F) 4 LHWIW 15
Number of major and minor ports in Tamil Nadu.

(a] 3andl5 (b) 4 and 16 (c) 3andl6 (d) 4 and 15

LS sl Uk eyserra 2 (peunet swdeuef
(=31) umui (<) srmi (@) uriust (/) sngm
_ plains are formed by the older alluvium.

(a)] Bhabar (b) Tarai (c) Bhangar (d) Khadar
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10. sy - yiellawnss Aeremme LEgrEGLD.
(=) un (=) @bSwr (@) udfssr (7)) gaywr
Bajra is an indigenous crop of
(a) Asia (b) India (c) Africa (d) Russia

11.

12.

Spssrgyp ahps AHar sipLUOLGD GBS g P Apmésy
fAeoauleea sHelsdpri ?

(1) 59y 352 (<) e 09fey 360

(g) slLu@fey 356 () slLln9fey 365

Under which Article the President is vested with the power to proclaim F

Emergency ? _
{a) Article 352 (b) Article 360

(c) Article 356 (d) Article 365

inancial

Garaupaaapons sroauflosuu®sd &Cyp Qsr@ésuuc@earar GHSE
saflfimig sMwren eflen_epws CabEsBésay.

(i) ugysfed

(iiy Semmelen gy Deugliysd Gangeman

(i) 20 @&t HUUBSD

(iv) @bdunelen apsd gy Qaugliné Gangear

(==4) (3), (iid), (iv), (i)

(<) (i), (i), (i), (iv)

(&) (), (i), Giv), (iii)

() (1), (in), (i), (iv)

Arrange the following in the correct chronological order and choose the correct
answer from the code given below.

(1)  Panchasheel

(11}  China’s Nuclear test

(iti) Twenty year Treaty

(iv) First Nuclear test of India

{a) (1), (and), (iv), (i)

(b) (1), (), (1), (iv)

fe) (1), (), (iv), (i)

(d) (i), (i), (i), (iv)
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__ @pfuredé Cerandlusrd o arey sraflu 2 HusSuile saraflapay Gum
aufl G588

(1) Beols Yyl 8l (<24) GleueTenerLs yrlél

(@) us@wbl yriél (rr) smbue LyLé

revolution was born in India paving way for self-sufficiency in food
grains production.

(a) Blue Revolution [(b) White Revolution

(c) Green Revolution (d) Grey Revolution

Qemeu(meuanaupmer Gard Csmfhsramasdr Gowrsg g ?

(1) presfliCul e (<) soyfl

(@) <y (7)) eumemflwibumg
Which one of the following is not having leather factories ?
(a] Ranipet {b) Dharmapuri

(e) Ambur (d) Vaniyambadi

U@d - 11 / PART - II

GBiLy : a@aGueb 10 lassepss el ualssab. elam aar 28 -&@

Note :

15.

16.

17

sLLmuwns faLweléseyib. 10x2=20
Answer any 10 questions. Question No. 28 is compulsory.
afll e Ggioal wésaflar <y srme ereueuny Qubpri ?

How did Hitler get the support from the people of Germany ?

wGaralafluien Grmomyfl Crrsdlw oiefl eugliGen efleareyser wrenau ?

What was the result of Musoclini's march to Rome ?

Qumoedlis seunblseflar STdmssmad Gss GHuy eamrs.

Write a note on reforms of Ramalinga Adigal.
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18.

19.

20.

21.

22.

23.

24.

25.

26.

wsCarm guupssHean el BbDsLEDET ASTEAS UPRSLD.

Summarise the essence of Lucknow Pact.

vgiIE G Guri e GIss frusar sifipgdgeaer ?
What do you know of Trench Warfare ?

Cuflr eyumu Grrey — euenmumE&eay.

Define : Disaster Risk Reduction.

ueenm (B euemflsd — euenTWmIGSaLD.

Define “International trade”.

Gasmubyusgnt gen sBPHT e ‘wradsaL T aear HaPssuu@ing ?

Why is Coimbatore called the Manchester of Tamil Nadu ?

Awhens erfleuryy erermmed eremar ?

What is natural gas ?

@euiu Genney 9 erenmmé erenen ?

What is meant by normal lapse rate ?

@pdwnellen Wsw@wmfisar wreneu ?

What are the classical languages in India ?

difléev (BRICS) 2 Uy prpsafiean Quuiseas GHUGEs.

Mention the member countries of BRICS.



27.

28.

GPLY : amaCuayb 10 demsse@se edoLwlésean. elar aar 42 -&5@®

Note :

29,

30.

31.

¢ 4

Quongg £ aTHL B e pubd aapnd cranen ?

What is meant by Gross Daemestic Product ?

aldlg cufl QAL penm arenpre aremen ?

What is Proportionate tax ?
u@$ - I / PART - III
sL_Lnuwns e waflhseyb.

Answer any 10 questions. Question No, 42 is compulsory.

Camg L @Lrvsoar Blyuys.

6836

10x5=50

(i) wiQeawuis Gurleo _ GuilplysEnéd eenarmeaig).

(i)  sngsann mew _ spblen GOEGs sLUUL(Hararg.
(i) sldpsrigen wrfle eNemE D@0

(iv) @pSw swdueanly _ Ssnhssms aupmiEGHng. .

v) L b e Csflu cemey urgisTULE sLLL @QHHw

BrLmEhapssre HlanGeabniiulLg).
Fill in the blanks.

(i) In the battle of Tannenberg, suffered heavy losses.

(1) Sathanur dam is constructed across the river
(i) is the Tamil Nadu state animal.

{iv)] The Constitution of India envisages a government.

(v) In the year , National Food Security Act was pass
Parliament,

ErarLmb e wsl Gurfler eflenaneysener ey Csls.

Analyse the cffects of World War II

Geugynley 1806 -6v Gleuigss Ly Sullen smisenar eflaTsEs.
Account for the outbreak of Vellore Revolt in 1806.

ed by the Indian
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32.

33.

34.

35.

36.

37.

38.

(=) Caupgu®s515.
(i) Cuwhe @sn s waasda wHnD HPEE Qpm_i&6l s
(i) e Cersb LHMIL 2HCons seaflwhsd
(<4,) BMyEmTD Salis.
fpés Gsmisd wewsda Qs isdlupy stauuGADS.
{a) Distinguish between :
(i Western Ghats and Eastern Ghats.
(i1} Metallic and Non metallic minerals
(b) Give reasons for the following :

Eastern Ghats are not a continuous range.

sUL byly Busssd sblppn® adss undoen eauflésab.

Describe the role of Tamil Nadu in the Civil Disobedience Movement.

CgarCung Lmeus sTHm GHSE T(HEI8.

Write about south west monsoon.

@pdw war amssar gGsgyb midoand GHUGLE, waTailcn LTS WwHHLD
ugeuey wmml efleudlEseyib.

State any five types of soil in India and explain the characteristics and distribution
of soil.

Grfwnellen snepasamer cawaslL(SS ailarsEs.

Classify and explain the roadways in India.

@pdw sipfluaeawlbe Apliys sgmpsemer edlaréEs.

Explain the salient features of the Constitution of India.

Grdu Grsw sewiafla uaflaar LHHL SLewaeT wWreneu ?

What are the duties and functions of Prime Minister of India ?
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39. Qurg IHCWITs LpenmEn ehleufl&aayLd.

Elaborate on the Public Distribution System.

40. MNC euarriéélasnen &Myemisear efeufi&sayib.

Explain the reason for the arowth of MNC.

@My : unieneuwHm wramairsear srasCasr® wHHD amguL S apenGuw
flapeaseeryn QL Bsmarnb EHUALE s BeusnE udars aunenmL
updlu @Hiysdr LG TLE Couamm(Hd.

Note : Blind candidates have to write only notes for the questions related to Timeline
chart and map.

41. SpssnamuenaudiiE sTasCan® edns.

1910 apsd 1930 asenmuiene saTdsl @ e LuULL psfu @hs Hsheysaar
sTasGaT Ind T(R&s.

Draw a Timeline for the following :

Write any five important events between 1910 and 1930.

42. 208 aueruLsEe Weeunmbd EL s @hléseb.
(i) &AGr QAL e
(ii) Dgrenev
(iii) @)&smed
(iv) Geprwoerf
(v) QunryraCsr
Mark the following places on the map of world.
(i} Great Britain
(ii) France
(iii) Italy
(iv) Germany

" (v) Morocco

[ #mUys / Turn over
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LGS - IV / PART - IV
@MUY @ SlenaumHid cdannés@pag aflauafiEsea.
Note :  Answer the following questions.
43. (=) fuspu SeyBse ubfl eleuféseyo.
I|6060F)
(<) 1857 Gumiiswsd CaraeiiumLw sryamhsman QpImis.

2x8=16

(a) Explain the Peninsular plateaus.
OR
{b) Discuss the causes for failure of Revolt of 1857.

@DHUY @ urf@euwDD TeRTaUi&ET GUeILIL Asr_iyeiw eflenmss@hédE GHUL&eT
WL (D TpSaLd.

Note : Blind candidates have to write only notes for the questions related to map.
44. (=) Gan@sslulGerer @psu amjuLsdle Spssranb GLmismars (HDESELD.
(i} cg)‘bqeuc‘usﬁl -
(i1} mToans

(iii) s&sraw 1Sl
(iv] wenant e udiGarer QULLSD
(V) &N UNEneaeUeD
(vi) G Qem_issl wenaaer
(vii) ungdi
(vii) sflgdwenr L@ pemm
S|V
(o) Qsr@ésuulGarar sOEETEH amruLsfd SpésTgyd QLmsmas
&MN&ESa|D.
(i)  wumeomm
(i)  Ceur_psmmima
(iti) sm9 eSenemuyid L@l
(iv] gpeveney Quflwmi ieneamt
(v) ul@ Qanflé e _Gumb GLib
(vi) eTemTamh
(vii) efwmer Hlenewid (GCasaib qenm)
(viii) @BHw QumRIS_o
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(a) Mark the following places on the given outline map of India.
(1) Aravalli
(11] Narmada
(11i)) Deccan platcau
(iv) Panna Biosphere Reserve
(vl Thar desert
(vi] Western Ghats
(vii) Paradcep
(viii) Black soil region (1)
OR
(b)  Mark the following places on the given outline map of Tamil Nadu.
(i)  River Palar
(ii) Vedanthangal
(1ii) Coffee growing area
(1iv) Mullai Periyar dam
(v)  Silk industry region
(vi) Ennore
(vii) Airport (Any onec)

(vili) Indian Ocean

~00o0 -
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